Succinct Data Structures

Auto-completion as our target application
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Find the node “prefixed” by P | |O(|P|) time O(n log n + m log o) bits

Compute the top-k strings

)

O(k log k) time

(O(n) bits

n = |D|, m total length of strings in D




Summary

3 months query log at Yahoo! C
~600 million of distinct (and clean)
queries
okl g a o
Trie requires =50 Gbytes! |
—z ~
o ac ba
4 6 2
Find the node “prefixed” by P | |O(|P|) time O(n log n + m log o) bits

Compute the top-k strings

)

O(k log k) time

(O(n) bits

n = |D|, m total length of strings in D




Summary

3 months query log at Yahoo! C
~600 million of distinct (and clean)
queries
abl . ~g a o
Trie requires =50 Gbytes! |
—z ~
We will see how to reduce to
~5 Gbytes! b C ac ba
4 1 6 2
Find the node “prefixed” by P | |O(|P|) time O(n log n + m log o) bits
Compute the top-k strings 1 O(k log k) time 1O(n) bits

n = |D|, m total length of strings in D




